T

ASSEMBLY INSTRUCTION 1
QUEEN BED .

Before you begin, please read Assembly Instruction carefully and recognized the part and hardware. Then follow them step by step.

Attach the Side Rail to the Headboard & e | ASSEMBLY TIPS:
STEP 1. Footboard. Use Screw M8 & Scraw | STEP 2. ‘ ALLEN K’EY — %‘__1 Remove hardware from box and sort by siza,
- —— B

= Driver to fix. Please check 1o see that all hardware and patt are present prior start of assembly.

HEADBOARD ~ : - ]
w

————

TIPS : Attach the drawer support and Slat Suppart to Footboard. Use JCBC

A N 3 I Iﬁ l
N ‘ ! : DI% ER SUPPORT Bolt M6X35mm&mlen Key to fix.
== i | | NO | HARDWARE DESCRIPTION | QTy
| : | T |ALLENKEY
(> L.C‘_-hg_ | A. | Screw M4 x 32mm P | 30PCS
I B. | Boit M6 x 35mm P |16PCS
_ ~< ‘ C. | Adjuster Screw M6 x 24mm 3PCS
SIGE RAIL ] - 0
FOOTBOARD i | D. | Screw M4 x 16mm P | 2PCS
L Screw Driver Not Provide 11! N /

TIPS : Attach the drawer support and slat
support to slde rail and fasten with Bolt,

Pr——

STEP 4 TIPS : Attach the Bed Slat fo the Side Rail.
"/ Fasten the Bed Slat by tighten screw through

the pre-diilled hala of Bed Slat. S

TIPS : Rotato the 'T° Runner gt Footboard to
! Drawor Slat.
Tighten T' Runner at Drawer Slat with

En m - Chipboard Screw M4 x 16mm, L

DRAWER

Xe4 dH

‘L sbed



